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What is an image?

A thousand words.  A Matrix I of dimensions (M,N)with I[i][j] = intensity(pixel(i,j))



Beyond B/W

Colored Images:

● Multi-channel

● R,G,B (an example)

● I → (3,M,N)

I[c][i][j] =

Intensity at pixel(i,j) for 
channel c



MLP

Vector to Vector



MLP Vs. CNN

Feature map to Feature map



MLP Vs. CNN

Vector to Vector Feature map to Feature map



Multi-channel CNN



Components of a CNN

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Input - A

W1,1 W1,2

W2,1 W2,2

Kernel - W

B1,1

Bias - B



Components of a CNN

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Input - A

W1,1 W1,2

W2,1 W2,2

Kernel - W

B1,1

Bias - B

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output - Z
Z = (A ⊗ W) + B



CNN Steps

Essentially element-wise (Hadamard) multiplications and summations
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A1,1 A1,2 A1,3 A1,4
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Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B
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CNN Steps

Essentially element-wise (Hadamard) multiplications and summations
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W2,1 W2,2
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Z1,3 = (A1,3*W1,1) + 
Z1,1 = (A1,4*W1,2) +
Z1,1 = (A2,3*W2,1) +
Z1,1 = (A2,4*W2,2) +
Z1,1 =  B
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CNN Steps

Essentially element-wise (Hadamard) multiplications and summations

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4
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Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output Width = 
[(Win - Wk + 2P) // (S)] + 
1

Same goes for Height.



Output Size
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Output Size

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Output Width = 
[(Win - Wk + 2P) // (S)] + 
1

P: Padding (here - 0)
S: Stride  (here - 1)



Padding

● Attaching zeros (usually) around inputs.

● Seen it before in HW1.

● Images can be padded to the left, right, top, and bottom.



Padding

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,1 = (A1,1*W1,1) + 
Z1,1 = (A1,2*W1,2) +
Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B
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Padding

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

��
Never Meet…



Padding

Increase output size

Preserve input size

More Kernel Interactions!



Padding

W1,1 W1,2

W2,1 W2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

B1,1



Padding

W1,1 W1,2

W2,1 W2,2

B1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

0 0 0 0

0

0

0

0

0

A4,1 A4,2 A4,3 A4,4 A4,4

0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4
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0

0

0

0

0
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0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4



Padding

W1,1 W1,2

W2,1 W2,2

B1,1

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

0 0 0 0

0

0

0

0

0

A4,1 A4,2 A4,3 A4,4 A4,4

0

0

0

0

0

A4,1 0 0 0 0 00

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,4

Z2,4

Z3,4

Z4,1 Z4,2 Z4,3 Z4,4

☺ 



Stride

Taking bigger steps!



Stride = 1

What we did before - The kernel “moves” one pixel (or element) at a time.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3



Stride = 2

Start at the same place

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1

Z1,1 = (A1,1*W1,1) + 
Z1,1 = (A1,2*W1,2) +
Z1,1 = (A2,1*W2,1) +
Z1,1 = (A2,2*W2,2) +
Z1,1 =  B



Stride = 2

Move two elements to the right

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z1,2 = (A1,3*W1,1) + 
Z1,1 = (A1,4*W1,2) +
Z1,1 = (A2,3*W2,1) +
Z1,1 = (A2,4*W2,2) +
Z1,1 =  B



Stride = 2

Move two elements down.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z2,1



Stride = 2

Move two elements to the right.

A1,1 A1,2 A1,3 A1,4

A2,1 A2,2 A2,3 A2,4

A3,1 A3,2 A3,3 A3,4

A4,1 A4,2 A4,3 A4,4

W1,1 W1,2

W2,1 W2,2

B1,1

Z1,1 Z1,2

Z2,1 Z2,2



Interpreting Stride > 1

[Courtesy Aparajit (Apa)]



Interpreting Stride > 1
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Interpreting Stride > 1

[Courtesy Aparajit (Apa)]



Multi-channel CNN

???



Multi-channel CNN

● Each kernel (or filter) has as many channels as the input does

● Channel c of the kernel convolves with channel c (corresponding) of the input.

● The number of output channels from the convolution = number of filters

Cin = Input channels

Ckernel = Kernel channels = Cin
K = Number of Kernels = Cout = Number of output channels



1 Filter with 3-channel input

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3

WB,1,1 WB,1,2

WB,2,1 WB,2,2

BB,1,1

⊗ =

1 channel input Kernel 1 almost-output 
map



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3
B1,1BB,1,1

⊗ =

2 channel input Kernel 2 almost-output 
maps



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3B1,1B1,1BB,1,1

⊗ =

3 channel input Kernel 3 almost-output 
maps



1 Filter with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3

ZB,1,1 ZB,1,2 ZB,1,3

ZB,2,1 ZB,2,2 ZB,2,3

ZB,3,1 ZB,3,2 ZB,3,3

Z1,1 Z1,2 Z1,3

Z2,1 Z2,2 Z2,3

Z3,1 Z3,2 Z3,3
B1,1B1,1BB,1,1

⊗ =

Kernel 3 almost-output 
maps

1 output map

Add
 through 
channels

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,

1

W1,B,1,

2

W1,B,2,

1

W1,B,2,

2

Z1,2,2
B1,1B1,1B1,B,1,1

⊗

2 Kernels 2 output maps

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

Z2,2,2

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,

1

W2,B,1,

2

W2,B,2,

1

W2,B,2,

2

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,1 W1,B,1,2

W1,B,2,1 W1,B,2,2

B1,1B1,1B1,B,1,1

⊗

2 Kernels - 
4 Dimensional

2 output maps

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,1 W2,B,1,2

W2,B,2,1 W2,B,2,2

Z1,2,2

Z2,2,2

3 channel input



2 Filters with 3-channel input

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

W1,B,1,

1

W1,B,1,

2

W1,B,2,

1

W1,B,2,

2

Z1,2,2

B1,1B1,1B1,B,1,1

⊗

Kernels 
(W, B)

2 channel Output
(Z)

W1,1 W1,2

W2,1 W2,2

W1,1 W1,2

W2,1 W2,2

B1,1B1,1B2,B,1,1

WB,1,1 WB,1,2

WB,2,1 WB,2,2

W2,B,1,

1

W2,B,1,

2

W2,B,2,

1

W2,B,2,

2

3 channel input
(A)

Z = (A ⊗ W) + B



Pooling

● Usually follows convolutions

● Introduces Jitter Invariance

● Reduces feature-map size

● Max, Mean, Min 



Pooling

16 9

67 13

3 9

0 7

6 12 13 8
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4 8

1016
2x2 Max Pool 

Stride = 2



Pooling

9.5 4.75

25.75 7.75

3 9

0 7

6 12 13 8

67 18 3 7

4 8

1016
2x2 Mean Pool 

Stride = 2



● Usually follows convolutions

● Introduces Jitter Invariance

● Reduces feature-map size

● Max, Mean, Min 

● What happens to the channels in pooling?

Pooling



Pooling

● Usually follows convolutions

● Introduces Jitter Invariance

● Reduces feature-map size

● Max, Mean, Min 

● Pooling preserves number of channels



Onto Backward…


